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PART A: Vocabulary & Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- We —--=mmmmmmmmmm- chicken soup. That's what everyone is eating. Would you like some?
1) 'd made 2) 've made 3) 've been making ~ 4) making
77-  You've been traveling all day. You --------------- very tired.
1) must be 2) should have been 3) can't be 4) must have been
78- I wrote the letter, but I haven't mailed it ——mmmmmmmme- .
1) already 2) just 3) yet 4) then
79- When --------------- home last night, I was very tired, so I went straight to bed.
1) to get 2) I've got 3) getting 4) 1 got
80- Some people think that it is difficult for a native speaker of English to learn Chinese, but
I e .
1) enjoy 2) retire 3) dislike 4) disagree
81- I need a keeper, someone who can make me nice meals and make sure I eat --------------- s
1) absolutely 2) recently 3) properly 4) hopefully
82- One boy asked if NASA would send -----------——-- to other planets, such as Mars.
1) stages 2) missions 3) inventions 4) regions
83- She failed to pass the national examination because of her poor knowledge of ——-----==mmmm-
subjects.
1) general 2) suitable 3) careful 4) famous
84- Who knows, maybe we might have even -------=---=-=- AIDS, or landed on the moon by
now!
1) measured 2) lost 3) cured 4) disappeared
85- The school building, begun five years ago, is still ------=-------- ,
1) incorrect 2) incomplete 3) unimportant 4) unfortunate
86- 1Iam not going to give you a list of suggestions, because I would like you all just to go for
it without --------------- your choice.
1) solving 2) preparing 3) developing 4) influencing
87- As parents, we often spend all our time --------------- everyone else in the family and

forget about ourselves.
1) calling back 2) checking in 3) looking after 4) waking up
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Most mothers have a good piece of advice: Never go into a supermarket hungry! If
you go shopping for food before lunchtime, you'll (88) --------------- buy more than you
plan to. Unfortunately, however, just this simple advice isn't enough (89) -----------
these days. Modern shoppers need an education in how—and how not—to buy things
at the grocery store. First, you should check out the weekly newspaper ads. Find out

the items that are on sale and decide if (90) --------------- those things. In other words,
don't buy anything just because it's (91) --------------- . Next, in the market, carefully
read the information on the package, (92) --------------- words like "New and

Improved" or "All Natural" on the front of a package influence you.

88- 1) probably 2) rapidly 3) especially 4) bravely
89- 1) but customers 2) so that customers
3) since customers who 4) for customers
90- 1) you really need 2) you'll really need
3) your real need 4) you really need to
91- 1) usual and cheaper 2) cheaper than usual
3) usually as cheap as 4) the cheapest as usual
92- 1) or not letting 2) by not letting
3) if you don't let 4) and don't let

PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

People from Europe and America brought Africans to America as slaves before and
during the nineteenth century. These Africans brought their music with them. After the
American Civil War (1861-1865), the African American people in the United States
were not slaves. Their African American music became famous. It started in the South,
in Louisiana and Mississippi. Then it traveled to the North. This music became the
blues and then jazz.

Blues and jazz became very popular in the twentieth century. A person who "sings
the blues" feels sad. Usually he or she lost something—a person, or maybe money or
a job. Blues songs express sad feelings, sometimes in a funny way. People played the
blues first with only one or two instruments, for example, a guitar, a harmonica, or
sometimes a piano. Sometimes they sang without any instruments. Some famous blues
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93-

94-

95-

96-

musicians and singers are Bessie Smith, John Lee Hooker, and B. B. King. B. B. King
named his guitar "Lucille."

Jazz came soon after blues. Composers added more musical instruments. Jazz can
be happier than the blues and is often faster. Some famous jazz musicians are Duke
Ellington, Louis Armstrong, Miles Davis, and Wynton Marsalis.

Musicians who play blues and jazz change the music to express their feelings. They
play the music differently each time. People all over the world still like to listen to
blues and jazz.

What is the main topic of the passage?

1) The Introduction of Blues and Jazz into America

2) Slavery in the nineteenth century

3) How Europe and America brought Africans to America

4) Differences between blues and jazz

It can be inferred from the passage that after the American Civil War ---------no-—- :
1) blues fans were few in number

2) some slaves escaped from America

3) African American slaves were set free

4) African American musicians permanently settled in the south

Which of the following best describes the function of the underlined sentence in paragraph 2?
1) It discusses the main causes of sadness.

2) It provides a reason for a happening described in the preceding sentence.

3) It rejects an argument discussed later in the passage.

4) It draws a conclusion from the information presented in the preceding sentence.
Which of the following statements is true about jazz musicians?

1) They are more famous than blues musicians.

2) They use only a few musical instruments.

3) Their music represents their feelings.

4) Their moods change fast.

PASSAGE 2:

On 25 October 1881 a little boy was born in Malaga, Spain. It was a difficult birth and
to help him breathe, cigar smoke was blown into his nose! But despite being the
youngest ever smoker, this baby grew up to be one of the 20th century's greatest
painters - Pablo Picasso.

Picasso showed his truly exceptional talent from a very young age. His first word
was ldpiz (Spanish for pencil) and he learned to draw before he could talk. He was the
only son in the family and very good-looking, so he was thoroughly spoilt. He hated
school and often refused to go unless his doting parents allowed him to take one of his
father's pet pigeons with him!

Apart from pigeons, his great love was art, and when in 1891 his father, who was
an amateur artist, got a job as a drawing teacher at a college, Pablo went with him to
the college. He often watched his father paint and sometimes was allowed to help. One
evening his father was painting a picture of their pigeons when he had to leave the
room. He returned to find that Pablo had completed the picture, and it was so
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amazingly beautiful and lifelike that he gave his son his own palette and brushes and
never painted again. Pablo was just 13.

Why does the author mention cigar smoke in paragraph 1?

1) To emphasize the negative influence of smoking

2) To compare Pablo with the great artists of the 20th century

3) To suggest that many of the babies born in 1881 had breathing problems
4) To explain what helped Pablo survive into adult life

The word "'talent" in paragraph 2 is closest in meaning to --------------- .

1) behavior 2) ability 3) sense 4) art
What happened when Pablo completed the picture of the pigeons?

1) Pablo's father gave up painting.

2) Pablo received new paintbrushes.

3) Pablo was employed as a drawing teacher.

4) Pablo's father fired his assistant.

There is NOT enough information in the passage to answer which of the following
questions?

1) What is "pencil' called in Spanish?

2) On what condition would Pablo agree to go to school?

3) Why did Pablo's parents treat him too kindly?

4) Why did Pablo dislike studying?

O @sanjesheducationgroup i udlo )T sy 90 3T o1 Kb JGI



o a . m q
29 _ ) ¢ P OO QO ¥ R T
: % Yo
e .V..N. e I R wise s S S R AR ety T, e T e ae A P R e ‘Vﬂ»ﬁ\ % i \HA\-..«;.««VQ ]
T R R ol
o.VQV S
v. \V&VN 1

&

£

B
ol
ol
R M._\.,__.«“ ]
oo |
e

i |
oo |
poid |
o |
VQ QM‘-\.VV. el
N & NWW &
«Mw%vw,
el
v
ol

ol
o

#V@# \

-

cﬁ/ L

-

%

*

b ,j ey

J’f’u’f‘,

-~ &

-
”
—
*
-

e
Mol esloo g0 f oty L3

‘ ]
37>
[
9975 59y & S¥lgaw Ll 1SS o

3bo 3T cygn 3T
T\

o~

c,! /
)
&

Ve
€
(:::;-" pll
wlo ;T slaeg ¥

£

(el o lgie

.

JPols

b

9P
SO
0) :
é §
Tt =

Pk 8

1 e g Y50 b ylon o)

.

(723 3159) o905 (39051
9

3
:) )

hs? s

«

°

39
4o Yo

)

e |
AV... +.V+¢¢
oy
R
RaRAs
o

3 ]
2
|
v 8
wm
|
4
BR
8
L
3

\Y]V/\Y/Y
b

S5

ol
Ww&wm 4_,
G

: 4 \\
N NN .wvvvvg,,
surad »O»»x.»“\@,v.@«,w Seesiiivaan ey
-

NS o0 8 g

&




— r—— b et e

Y axio b ool g obj

2 4wl ol Cawyd o Jilie yo baojly dod ozo -
(2lssly e 1 ) (Cdlos 1a3) (Y @LL Lew) (4355 0 danio :azlys) ()
(Z57 1y 0,05 (0905l iy il (F (02,5 Jleal: Ja5) (ols 5 b gollas :5905) (¥

fowl «baler oflg W oo ¥
(3l Sy 9 €979 i mumild) ((Slogmn 1ologs) (33 399 (sl 2 )lo0) (0 b :all3) (cg,1a5 Ty Uncl)
(52 :550) (g5 148l (GBIoly 1 y21) (43905 b 131 55a1)
o (F | e ez aw ()
fowsl plaS cowd 5 4 55 loojly (Smo  —¥
Qb ks el cueluw (50,5 wlol»

5 Gl g ju5e (SBubgS e (Y a9l s (ol S 555k eyt @gie ()
Show 3 03 i leod (09,5 Iy iuluS (F 9l lgds 5 S 40551 (55, e ys (¥

3,10 9929 « Mol Llé» dnlS 09,5 plus yo  —F
PoRse Gl g geed b b 5 6 (gl g Jolkas ()
OO0 (5955 9 e 1509l 5 Sl o Cloxe 5 welis (Y
“ro g e gla> e 5 Blas o GuSiled 5 o3> (T
Lo 5,00 wolSols 5 pame coni J g aund o (F
fogu oo cdl (Mol Llé Wijle plas ;o -0
IS gt 9 325 G (il 33 g 5l ol oLl (I
g 00 s 5lgS ()10 jo Tawd Ay S5 Sl 45 Wy les o Slego ol (@
Wl pales Lol (556 @ 1) jgrde Cllao B oy 1S aid (z
B G jg0 Uad g IS g 9o (3] 50 g Sl Dlguo e G331 WS (5
z o (F AT 5 (Y 5 wall ()
Pogden il (oMol blé Wiz 5 o 0 -F
b ol aes ddas JBlo U 515 5,035 jlas J5 G 41 pas 4o (S 51 45 Cond 59, Coglio g S 52>
€o)laS 2l )0 il il B 5l 59, 51 Ceelin Sy 4 Wil Llgeo Gl

Olez (F s (Y 95 (¥ Sy (
fanl «lalen oo 803591 wyay 4 T plaS Gluil -V
(5l ez oleall slo o) (¥ (&)lias jlae LJg¥l 5 S5 ()
(S5 et s ety Sl 58) (F (shely suzme L5 (6,551 15 e ulis) (F

fuml (oS Az e 43 50T 51 S 2 baipel Wy —A
93 A a4y (650 b jlolilw (bl ,5»
S ek (el (sage 9« ilos, Lo jaame ()
G s 2l (Koo e Voo Lwsl ols 00 (Y
S olebo (K ot deze gl ols g0 (Y
Lgl ol joe o el (g0 (e olelu (F



)8 wleol g (b

135 4 fCaw] sl Cglisie (glxo 30 lwsy rojly wilul don o -4

CICTRL SESPREREEIPN | LIPS (S % PN

S o L2 Jlas Gl o =

MH;Q‘WP&g—TgﬁMT;(Y
Ly oS = Gl s )0 S (5, Sl (F

G s & S )‘ | Sl o Py

A

o g pol—dl joa o le a5 80, 5l e a S (Y
Tl Glmo (61510 g dcild» W3l Can plas Yo
St 53 4t o] S, b 5 150
5 e 3 5 i b (¥
S Gyl T s 5 0 el 5o s (Y
ol 5L sl 25 4l )| >, a—a I (F
5 4 1094d g0 Sl Coamilis plagl b plaah lyl & 45 1)
oS o5sil s sl p gy Al K, €
ol 2,8 oo e jland wa N S
ool ey oS5 L Lt e
Ales, S i g ola,d laS Laco S ol

S 3 oS (o

Ly 5 s 9 J

S e gl |

o e ) e 3—uale

ool la & a

By g s gl Do L L >l ()

J & a5 (Y

e S92
oj_f)o)_wp.e‘.;_il__?wjg‘_&éjﬁ_&(\“

Toiwolas ) caw sbasl,l VY

«Cm 8 s yoe Olh 45 00l ;Lo S| Ol v i ol a8 a5 L
)L?LA Lrﬁl{," cd.’L«S GO)lJ:;-M)‘ (Y

(5")1 C‘B scwla wlas ‘o)l:;;.w‘ (f

ool ol s (uSTgoll sy ()
o)Lx';M:' ‘ﬁLea.‘ elre i (¥

ﬂﬁé ‘)99 —D

&t @y 5gsy S

.ELc (585 S8

ol leg——j 00— S oL :
Y T N WY SN Yy S
Iy bl wgd 8 Cnmid e g |, Lo oy
b)l—))L’;_é)f Sl 009 4= 4_5‘5,1_\_:@
P SN I I - Cop Wil W L.

6);\]0 swla.....u&_i.o.} 46).»5&—’% cwﬁéujo (Y

135 At o0 Gl «adld g Lo p wilol Ao o

Sle g0, S 4 HES\. > g Jo 0 (Y

Er—% sl s b e ool o (¥
! st Sl LS (F

Olsy Greg—= 4
§0)95 (o0 i 42 € puond Y S pluS 50

po =S Loy o=y Jo hiie &)l o 5 ()
@2ly 4z 45 ColS an paiSo 25 5 (Y
oS Szl o g 5 Bl el pl
pdg—s 00 5o oyl mal o il jo o L (F
Tl (s « Kod» o3l 09,5 plus colu
Ol oty ( AL iy 5 35 ()

Lﬁw% ‘; 9 Mﬂf ‘OKA-A.AJ/" S cwbﬁ 9 - 55 (Y’

-y

-f

-0



w8 Olaol g L

ST i lsS g (eSal (F

b 5 9, J—z 5l U
b by o Wjg—m sl oS
hl—oolyou, s , o5 ad) way
S R I S Lo g

332 4wl sy Syl dos 0 Gl S

= g )l )9 A s ()

)l 5 e
S 5y b s ol (Y

1l Sasl—w e, 2 4 > (Y

€950 9 —

= 9 b ol — (F

255 (e g
Fusiwd (oo Cuo? Ko aojlg plus
00 yudl ilS04S" cdianw ¢ Sl>g, ()
WMle ¢ SBgd (s 1o o Lo ,S (Y

13 4 10,410 992 g «aiulg il Wlul dod 4o

g E— d.__.u_ifl 39 Py a—
D92 Gy S @B pi e 5, (V
3l Ed o ligye iy (Y
S o ool oo b g, sl a s (F

~9) (s

Flawl plas (ol 35 e p1 ) S 0 00D poion goile guis

33 BY s

«s_ﬁ.} r )

JB.LM m&.JLJLa.o [18 SOV ‘\)LQ_; (Y
uldtm 4J9.’_D.A (IS W u)l{,; (?

€yl (38 95 Hea wa—b jw 40 4T y»
035 Sl B (¥

g iy i ISt
u_,oéb_.,.a)lc\_.rb.-qua\_fw_bsl_w..f

e l—2U

> 3l a

[ ) So-
— s ol Ot —— S

L5;[ e < )| s =51 & S & I_x_,_,

O0ges by (Y

5 G UL S 4

ts) S 3 4

cb..”dl..a.o ‘ij sQLe‘.; 18 SO (\
Jg:.u ‘d...”JLa.A ss)l.e‘.; 18 SV} (\ﬂ

flammnz «oled (blo @ pr SUS popdo 3 Cow o

G 9= Sty Ololy 4w cdler
oS S (Y

12,00 (opgtho al ;8 1) o b oy plus

Cwgl 31 Lpodms dmod g Lpvoud j oLy
Cwlas gl Jles g as S5, a 010
ol (S LS g s el S el (¥
2,0 (Y

A4 oD )‘ Ql & 9 RN o A

‘J°}| \

sl e S aul g0 (F

6X1

29 o0 Bl 30 €355 3,95 31 (505 41 5 [)le> g oIS pggcdo 5

Sl =l & sl 395

o dat | s g T ea, o § g iSlad
I T I N NI
s gy a5 . Sploga—va

A\ ,L._, Ql

0y ly00,  Sog > L
( > c |

D) — o ) u ‘P & A

Mrb.ﬁlj)uwe‘él_»wjoo)jépj)_»

LJ ()

¢ L )

Sl (ml <
oS e Jo bile vgm aS ol Sl o 4 (Y
W2l 5 59, 5 45 (et 5 5l Sl o3 4 (Y
B el a—e 0,5 Gles 35 g cadal 4 (F

132 A el Hlush Wlyl Ao pggde
o—= plos, 5895 0 —13 ()
=R a S T Gt a6l S S (Y

5 )9S Sg—3 » (¥

7

foj > o

)‘*3, ' ) | A

15

-\v

-\A

-14

—Y.

-Y

Yy

Yy



B olusl g b

€y jls (WS (o WLy Sy )0 1S
P B O P s i B
u_"_..»YLUac\_?)__aao)b — 0 Sy

Cliaiw! g 0y o g limunli g 99— bl
oor_?d\j)la_wtj_SA_SPQ_Yw_f)'—l

S, 5

o —S bz o r—> 00—

S5 G0

— fos Aok
0,8 S Jily piolo ez (GOe 97

"-'5)‘5 o9t Cal B plaS by cow -TY

oS oLl 3>y 35 ) 45| 1 iSH

(R Sg—aie A2 39— 4B &0 (Y
sl g She g i oS ol b g (Y
.- ‘)\)Qs ').‘ . O > .- (f

ga,00 so,.@,n.o bliylipy e Lew f‘u\f -Yo

O3S 9y 45 (0 I puSe 00,95 (Sl o> W
5,5 L1y o5 oz e oS (nl Cowgs o> ()
a8 Sile 5 el (¥

.

S el g g Sy (¥
L}.:.’)L.Aé; . f )_, & — l_m i“ )‘3 ),‘ ) (f

& ok

(Fo—v1) dgall 1) 5f oo Aeaill lsad) 2 G 9 ) e M

S VO OV RPR PPR YPCAPRPY R el

e BT el 5 5l S 5 4l Canslads j50 S 9 ()

s 553551 el 5 eely g Wiglas g5 Lad g (Y

e lod 5T log! 45 S8 5 ol Jgmsy 9 Consl ) i Lo (g (Y

e 25k leal 45 SLaS g 5l paaley 5 sl T Lot (g Llow (£
1§ Cisash pd 9 BN Qi 9 Ball () sal Gedl) LB oYY

S o 855, 45 I e o wims o SIS 5 ls e b & 5las oS Lelos ()

g0 £55 5 & Al 50 aims oo SIS g iy o Slos a5 LS ploas (¥

b g5, 30 Sl s aias e |, S5 g 0 e w1 Sles a5 Sl (¥

A Jgrine £55, 4 a5 C8g Gles 5o disles oo OISy (slol g 0isS oo 5les FWE] J@M(i
clpsnasa IS b (Sl 13 aay o ki s sa Jlall Lyl g SEN alada s &) » —YA

lsle 5590, 50 |, (6,58 (5132 Wilgi oo 45 Ceul (S Hlo JBle (Ll g aitn S5 (gle leolss ()

rwlth,bjwmjo@ﬁL;!xoa;l%%oléa\s@!@;gwJ‘étcowsmu;ééuudus(Y
M g |, S9is0 58 (6,55 (51 w0l aS Wl SLuS le (sledludl 5 ool S (slie LS (¥
LS oy legige fod 4 |y S5 5138 aidlys aF ol oS JBle g 0581 (glid L5 (£



7 axivo &= ok

() el pl ety B sl plal) & alas of s el.lmii\ 5ale Cpa dagh (g) aalnl W3 »

‘;'Ma\oo;oy1 Le‘)\WQJ)J))JASOJS).QLEJ9‘4}&‘&ubuwfw)‘|)(=5.3 \

1wl obrobol\ Lg‘guo;oyk}.o.cdﬂawafo;u 5\1).,)915)901)‘593 Le(uua)fuot_c S (Y
'w\oa‘bﬁbu‘\ LQKMMQO;J)?JALJ)Jwéso‘bulﬂus“f)d;‘sefw))w)” 09}‘693
«'Lu-Ac‘J\?AJdSLa OLAN Lg.g.a.u‘gu.ul.d\ uud.«abﬁ\&hﬁul.w\ ?.M O dad) ) »

wooﬁ)olﬁwp’d)‘)u ‘)Bsw‘ﬁ\)ﬁu&.]ab‘é_‘aﬁw&‘}c) ‘)i:\)‘jefbb(
‘w‘odg.oq

ol 00,5 05 1, LT S pcodaS oS0 ilg asol 5 ols wlow g wole 5l Y
=’ Py, 919 T ) e

wsfu\))?du‘)u u‘;ﬁgw\ﬁofobu‘c.laﬁé‘fw%ulc Q;wu‘)x\b}ww(v
Wl 0094» AnlS 00 y0 LS)J‘)"

oS Joyo jolp cbsS ooy 4 o 10153 5 ol poye o LS, b Jle O yeden 31 0955 St (v
[0S oo duisd Sl 00 0

ooy | ol ol a5l ¢ Q;M‘ow@gasﬁofwbuusg&dw)\sg(
!»\ASLSAWOQ)A)Q‘)%;AM?S
Vi) Jlee¥) Jary o AGT 5 Guarlial) 435le) gl & Lial) Sualih) 258} »

o el 1) S5 sla, waow\so;vyayéwmum)a La, 4.:5_51..»)5&1&\& )

v

‘Q)\o)u&.uél!b lfmsow)wc\fab \)Br;bm\ ‘Mﬁﬂf)y‘w‘owmem) (Y
b.SLg,.»me.o_ca\SM) o;oyoywm@z@)u m}il)l}l)g,o\uwb(

loais ,BG 1) LgaSis 457 0,5 (o2 9 3.0.,;/30 S4> ngacm)lfmeéjylw\o ¢
amou\s\ﬁpbw@wq:agﬂgsgs’zﬁasmdmydmhbgs;j(v
g on s (S 855 53 1) (s00ae

oS e B3y o 5SS 5l el 1S Jgil S5 e i of Ul (8

-Ya

—¥y

—¥Y



YV axivo e ol

:Uadl) e —vy

b il ale 5838 el ) lead e Adliie slall oyl aglid) ASan LS ()
WS oo oy 15944;)A§ba95@ba51(55)a‘53.
opgymszckﬁ&w;u\@&w\mum}(w

¢oal o0 005 1, oy

) <l

i el & laaaddle tkumal ST Ayl sy A5l 23gs (sinme AN Sl 3158 (¥
it oole ol A (SIS 95 e )b ey
TS Cina Lealadald (A Leaild JSU ) Cand L8 (¢

taw! Jlgiss s ol a4 yols 138 [l oy
DIgR 2 9T R O R

S )55% 00) slo )5 3l Cewgs gl 1y

FS (03 o 5 WSS (o) 0 50 &1 A oSy iglas » — T

1) amn Y e ) pan Y (Y 1o amy Y e ) a1 ()

W anp o 0 ) pag O (8 Lol asy b o @) ann ¥ (T
LB oo Gl (FUa 531 50 LS Jguw (s 3 50 8 » —FO

Iy 3 el b Jhw 531 (Y 1S b e ppiam 8 Jls 30 (0

1,80 b sl alall (i dbs oa (8 oS b Al ey 3 Jlo e (¥
relalsd) clSa Jada b Uadd) gle TN

s Jee i Sal 4 Wle Al G ()

Ll a5 03 2l 8 el 155G (Y

L e & Gul OKG DLl Jaad 580 505 (T

P ) LAY g b saB Bas RislAd) B2 (¢
relalsd) clSpa Jaga b adl) e -V

Vsl leilialy ghaf 8 Al 3giad ()

1l YT 3o e el ColaS I G (Y

iy JaeSE Bl ) AL 4 4l Ze Uil L (T

1o i) (&) bl plias aialay S0 i) (6




(£0=YA) hxall Jaladll 5 eyl b muaall e B H

rct A AN daasa alal Cpibly G dlcall e dslan LG » —TA
@a&&u@}w/(&m;ggwwm fopan) (N die — (ale Jab 2l (9
Al Gilias [ (Jled] b (0 «asy Jad o Fidia) Ol and = S3e 2jie — anl taas (¥
Cire — (Jel@ Qb e «ibr Jad e (Guda) Jeli paal — S3all Al e roppdlaadl (Y
Al Gy e [ b
&b 5 e [ 550 = («dipy Jad e Fida) Jeld and = SAaN alle gen — aud 1opdly (€
«dlually g gall
tldsyjall G Jaall Lgandind §)le 500l » — Y4
Sl iy pasma [ b Chne = («giy Jad e Buie) le) and — Caige 3yia tdejall ()
«bally Toaadl 58 /3,50 — (A1l Alussll) Axlloe aud — Caige Dyba — aud) 135 (Y
and) Aaall 5 tise [ b e — (ot f A8 jall) Aallae ansd — Ciga jhe — aud 3l (¥
astia = (DLl (35 o ¢alatind foyras) D ahe — g HlSEN — g jline tansiu (
(potaall s =)
r!di3la Bale o Zo A Bl §padd cigy) Jlatd) b Y » ¢
Jsoae 54l Cilias [ (it Qb «ash iy Jad (1e) Jeld ) — Cuigae 3y 14350 ()
«laidly Ciliaall 4 Ciliae [ (Caige cCy) todjie) a3 o Sa man — aul 1ig) (Y
BISCEIE
Aaled dlaal) 5 «dleiihy aleld 5 Jad [ (a8 Qb (a) (D ahe — ilell — £ )lian Jed sy (¥

Aglad dilen 5 iy Jndl Jold / (Ul b 0e) sdemn = S0 ke — pul 1dlaidl (2

coall) ol Ly (£7-61) Ay e cal & AU Gall) (i) B m

oy Ay alal) a9 1Adly (B aaf iy ¥ o el g Aite (B aaa A of ) Kda G Sl
ped Aty S g daall (8 Al dida g I3 A o Bda G alial) B oy A B L agde A
b g OIS La DL dilad gl JB 5 3fall Al jliaaly Slall sl L JLd EDG Ll oda 383 18]
Caaall ¢ Ly

3 2aall gLl Glgal 5 QLAY Jaad AN Glgall Glany e lu A Y) Gad iles La ol rculal
laal) o Lgand S of el g clia 200 38 sellal) Jl88 . ada Cupd g pla) i



q axéivo e ob)

is :ﬁ] JMAI‘ ;Luvcéi»hi ‘ﬂJL"“:’?}:SJlt"J’ L Sy ’ p S‘C’;\D ¢

Pasasall ) s cilS Lo ) (Y ey |53lS gl LWl ()
Paaall 3 5,88 il aalall (€ ey ap S Lo ellall (W
rellal) agi B daadl o Blall Acd GiS e £ Y
Lpaall 3 Wl (¢ Lot 1Y) (Y S (g el (Y SWEREANE
) Sopal CillaS ol BlaY) () agd Of ay el Jas 13la — £ ¥
131y dee Juy o (¥ Paawsall e Leand 108G el (0
Tdasdl 138 e 03 (€ 1) assl 815e¥) Jae S La(Y

: ST sl slaad o — 6

tale Call Go i aaley aéiny Hlle (Y olasYl 8L e (alidh 5)ad oda ()

1EpAll e culs e 48 Lana ails (£ 1G0Al 138 (cae ula Lianay (Y
Jeaitl) aud Ad G Le s 60

lailgall 5 sed alic aised cule (Y lopanll i 5o 5 L) yday U5 ()

) LES i aladl Gl (8 1Y) ainy Y e el 35 (Y

¥y A eel 8 paaall e €1
(i) 13 Gpa¥) sla Gilia GludY) < Y ()
(Rl oo O fle 5 B I e Y (¥
(oiall 4all) Heiyyla 3 JSLaal) AUall o3a Jaaii Y (F
(sl L8 1mad Jae a3Y AV Gasd) Gl (amy oy Y (8
th ) qugludd 3 puaal) cpe — £V
(L) Jad — alu) Wle Wasd) (e Alug S 8 584 e ()
(Jopill Jnd = Suaal) daSaldl iy 5 oS peay ) Iy uaali o § (¥
(Ll Clsa < dmn ) famen sed al e JK5 0e 53 (¥
(Ll Clea «— ) 038 3 lal syrua 3 oLy Ol () (¢
g lil) el £ sbaall » Jalay ¥ Jadlly Agidiall cigall pd cie — €A
P Sl ¢ysaley ¥ 18IS Gl 5 (Y IobsiaY) 4 gsaady Slaal cul ()
1ailaa) (e sl Gsna oaeS Jad (8 1gsling Gul Jad Gupe GTE dan &) 3 (Y



Ve axio 2 ob)

Al oo Gilidy Jlal) che —£4
lopAlia 158 a5 slaall ) llaay o5 lad) (0
lag)d (s a8 g 2l (8 (siagall aaial (Y
1imse Zaaly Ly Y aas of Sad Gl &) (Y
ladlaal ) Jpasll Jolay 58 5 4upn adlay callhall &) (%
rddlall glgll o —o
PR alel Gula 5l W Al any ()
Nalals oY lsesy a5 alaall Laals (Y
B )Dall Gplaall 5lu Ja 5 GhLd) mhias o ls (T
lall i 5 byl on 38580 &) Jea 6 (2

Gnym'd)unj&;b)é

(0P) 12 Jam 5l (my «CogSo g Ca¥ g g «oole Cor o> Codgiummn 90 9590 30 () P51 jaoliy 9 T8 ls -
falibls (rbgo dzr ol oy
Caslel JS ay plos = igSas (¥ oA Nl il _ gl (A
poye ol b cciils & oSl (F Ceolel K& 4y plgs = pglas (Y
oLl 5L 31 g wiiam e b 0 po a5 3T (g1 5) wickel dmamo 4 (3Ll ady 15 4T pIaS Jg35 51 g (0) sl —OY
Sy led pMel 1y £ gbg0 ploS B (adls o (30,5 hdeo oy Kalli wiginite
(2) 15 gy 51 celble i oSia a1 ol g Jguo J gaslol 5 il Ignalol Tzl o1 3T L ()
(02) oz Jgu 5l cellol Dl oy cpp i Tgial o0l g dgns ) g dlll oS Lol (Y
(©) o Do ol - wSio pa¥l Jol 5 Joms I lgaelol 5 il Tgnabol lgial opddl L3I L (Y
(&) e @y colol o M g0ty 31 lgial (o3l g g o alll oS3y Lol (F
Cogih s 5900 4z ol €l yihy o) Lagih Alocr (ol Cyus yo —OF
Gyie g o OLS (Y S g las Ol ()
Cuzmo g aelbsl (F CoVg g Cealol (Y
542 Sl (P) 10 Jamy €. D Bgunl Al Jguoy (B o8I I ailh ayloyd o ((0) 105 Jgwoy 5,b,0 diglas  —OF
§ ] € 0 g
S o 0l sl Ty 105 5 5,18 olel (U2 105 Jgus, 5 105 4 ()
A8 g0 o Sl 1) 1oz g 5l ael & 3T 59, g las 4 (Y
W P I PP PR DU AR VON S35, 9 o a4 (F
Blse 03T 0l 4y sl 5 010 Glaal (o) 195 Jgm 5 o s (F
B> onb &Ll 50 9 000 JoSld ) (oodll oS pes oIS 50 5 Sl Wiz ke 50 el (el poly -00
§091 dig8s 045  oasels
&bl g jeuds - aSo - Jlo 00 s (Y &bl g jeudo — aSe = Jlu 00 ()
o g Lo o Ao o Jls s (F Mo g 5b0 - anoe - Jlo oo (Y



V) axoo

so)l.w' G)L&ogx_i;m)é

g0 30 193950 W1 CSewnds &L RINES (Nigo 8 () [RES J}w) oY) ..\.:.?ﬁh\f Pl 50 wiglas

oo b ylae g oo (¥ POy Solas )3 (6i9mdd 5 (5T s ()
ol D9l g 5 plp (F Olid b (50,00 5 188 L oj,lee (F
fad o0 ((2) 551 Joly o) o po 4 (g loid 4z Wiglas

Asie e iy opag (Y o Slisl e oLl ()
Lo all i 08 (F JiB gl ole B 1 (Y

1391 4z iile 9 01300 pt (5395 4% 3 1) (bledune pMldlade e &y

OUT Olee 48,85 5 plal Sl 51 lilabne (5,5 20 yms - (02) 195 oo, vl s (s9550 ()

ST Olee 48,85 g plal s 51 blabis (45,5 (7 po - ol 2595 5 dal oo o lgs (V

T e I RUT RN ACEVICC Y IR R A NS ST VO TN S5 P 4

3 Szl )0 (G g bl 4 (6925 Jue CosS i - () a3 Jsm ) lool (ad (s9500 (F

o1 Jole plos” Jolro (0p) Ml (o0, yroly Caslal iy 8 g S

Kot laSlo i @ ol Jaz g ool ool (slocemasd ;yondS g3l 4 ()

ily Glolle Loy ST s 5 () yroly Sl 1 g 8l] g e (Y

g Slalle Loy LT iy 5 (oMl ol (slacased oS T3l 4y (¥

ot pleSb a4 Caall Jaz 5 (2) by Sl 5l ey ol (g e (F

fads yoteino U ool 2 152 9 ol ool (yly il dludis (g s Cy o 50 pSxo axld ylgicay alos olas
el 155 bl alisl JIsi — el lie 31 o el o O

Ledlb sloo oy ez e SlalS —dll 3> 4 Slas Cas (Y

Lawdls (sl oy oz ed OlelS -l Clie 5l ags el o (Y

el 1 5o plebel oll Jlgs - dlll 52 a0 slas Cons (F

fams oo ailoy popo 4y (P393 5l wrr (51 B &1 Comud 1) gl0iad 4z Mdlande e @ pas

il wil ol s a5 alyse Lis Sl 18 asalssn o8 olSST s o151 501518 5 Siml, @Y O
DS b GLAbLSS @5 4 g dig)ly & s Llgse oS olST wanss T 51 50050 9 5l o Y5 (¥
DS Giolize GLIBLIS wéi a9 dig)ly & gods wialyse aS olST ccnas 151 500518 5 Szl, LY (Y
ndls wnly ol age 4 g Sz Lio 1, ()15 asalsse o5 olST s o151 500, 5 slee o8 Y (F
.......... Ololel 00,5 o Joe oMl jgiwd Gub p0 (50580 40 oS> )f‘| (&) 4ol Hyloj 4o

W so LSS 1) dad 103 o, etils g SO cead aile 5 0,5 as 0l (69,90 ga ()
D oo Gl 1) de 195 Jogus, (il g SIS Caad 10 Lol 50,5 o anl 1) 8,50 T (Y

S oo Sl o ) pleS T elaizl g (613 5 (NS slaglis 5 wis,S e b 1) 8590 oI (Y
2385 oo i 53 1) pleSlo elaial 5 (5,18, 5 (ST (slacglis § 00,8 cod anll) (69,90 e (F

ol g pllas Bdo (6l 2 cailo pg o (ool dnoler (5 pudy 50 095 phuno G2 51 aSiol 51 g (¢) e plol

..................... 4 gbeo loj 30 (&) (e plol g Wid S e

2,55 0z glade 5 855 iy ;) 1955 oln e, Oles - ddg @55 ()
22,50 3k gl dde 5 <85 iy ) 1655 ol g, oled - (s S aleS (Y
1285 el i bl pd b ceslite g 0l s 1) 095 (g - adin SgS (F
WS35 el oz bl d b cesliie g ols i ) 095 by, - (65 aneS (F

Y

-av

-0A

04

—$

-£\

-£Y

-5y



2 Tl womano b Gy Alasly wiilo s b e Al L

s i Slog> g0 Ll Do oo )L.u‘ss L:_‘,)'l (Ol dislo b osews 092 - s> ()
Al i Dloezge Lol Sgd oo e Lo 3o aslo b st 09 - bV
At 2ol Gl Wl 4o Bl st Blasd o By g Ly o s (F
Mt sl Gl Wl 4 o Bl s Al o By g o 1 - L (F

—5¢

Sl pagio po & yle plas sly b pjcas —£0

“p 9 Ly ol 51 L Culid 9 30 9 095 0,500 x4
Al IS (815,855 Y g s s S 5 g, (Y ool (e 881 i JI S5 Y el ()
Sl oxlgll 52 4 2 5 S gl bl 5 (F 4o g odn g ald all ol o VI s el Lo (¥
feawl & g 90 p‘AS)SJLu«b.ngUu.’W@Y 095k ldgl digd o o3 AL o> Ayl &1
Sole o S5 (Y Sole [0 a5 ()
<oV 0 Sy (F CoVy y0 dusgi (Y

i a8 ille 31 iy G ISy &5 IS ain y9ea |y

ool Ol BB 5 wiglas el 5 e 3,91 00 dyy 1y (S50 45 a5 (9 ()

255 B Ol U5 wslii el e 4 5wt (all g sgamme b 51 A0S a gm (Y

2l gl 5l G @ plaS el A)10,595 3 (s JWS 51 blas 1y (Y
ilios 5o e o) o el Qe Jg 5 e (3l s wiglas a5 LT 51 (F

Flawl (S5 Cawyo ol y JKily ay i &7 Pl g 0 oo il bl an 1, 095 (SN yrwmn (53,9 b

mogdneld 055, 5 () Al - role ol Sy lis, (Y w09y (055, 5 Iy Al ol - mdllaze] ¢ IS8 ()
et JS @B Al Bl il S LS, (F woren IS BB Al 8- mslolazel o IS8l (Y
g 355 Comwgo 1y 50095 (poidd 9 oo cpoisd 210891 ylos] a5 Slws 5> loyd so 0,5 (41,8 Jdo am o
Ol sl g SUS (Y Sy el aes cre ol e g ()
O 30 050 &l laccdl (F &2l o @5 sl Lay 19,88 03 4 (Y
ol plas’ cud oy u”ﬂwMﬂbsulﬁ’; gl S Yl @dldlande e & pao oI5 45 4265 b
o~ - oleal (F i - Jie (¥ S92 - Sleal (¥ S92 - Jas ()
ol PN 2350 Gogan 513,90 plas JKily 5 cay

CUsS Sl aoal (S oy o WS Cillabw a5 G (8 Suoey
CoS> 5l Sy a4 ol (Y GRNE> Ay, Coghs ()
il caog sla blol cél s (F ol 5 g S8 g wiglas L sls 3l (¥

°°°F@°L“Mr’9wu°‘45« W&wsww‘uﬁw&;wﬂwnﬁbﬁ»mwm)‘
Sl Sl 523 9l 51 6l glo 5 29000 0 ) ol 831 5 ple L oS i lg ()

-wb@ (rs S S ol (TS5 L 5,15 S bl Ul sline 4y 45 L (Y

33,5 50 5l gl UL i g Lo oS prona gl DSl ol g el Bllae olusl Las (v

290 planl Glusl LS 5l 2, o Jad Jls 5 o @l (i wile by WSl ilsd (F
Sl T w50 dds oo &T plas 4 3,18 Gl o Ll € gy 4 Leadbgor jo 4 gLas LT
e gllae 57 L ;i_‘,);LL:.cu.ocY?g;Ypm)U_o)lo_o)!m(\

= Y935 ol 2,V g Slglendl Koy bl = 5 las = o s (Y

= Y935 ol (2,1 g Dlglondl Say bl oy 2 s = sl (Y

welle B Lo 5 SO ellae o sY5m 5 sYem 0 SIS - 55 _ o i (F

-55

—$Y

—#A

-5q

-

Al

Al



VY daxio

@M‘d)uog@)é

L Iwe ea).f ol a5 |) AJuT ‘SMJQU L c_lw') 9 OB jg |) Sg> 99° Olaw OT :U.wgcb OL“J‘ as (o
Sl o 31 (Sl ady i LT plas 9 0,10 o 4z o3l

OrRY o 5 Lol Islsy (1 165 5 o il ol = 53kl O

Oy v 5 Lol ledgis ) 1655 o uld] ! _ sloel (¥

Lskazes ) sllae 5 Lo g S, Uae yo Y50 g =Yg s SIS _ oSl (F

Tsbima S0, ellae oI5 Lo 5 oS3, Uas po =Y g #¥gm Tras SIS sloel (F

oilooal 0310ty osmo (il Knn. o od| AAS & ooy (g0l Lei> Mludlanle 3oLo plof Cuus 4 a4 b

Dg oo S e bl (F Dgd oo yidon los Oitd e (Y

-Y¥

-Yo

g;‘“fr&‘ uL')

PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- If my train ------------ delayed, I ---------- late for work.
1) was/ was 2) would be/ were  3) were/ would be  4) were/ was
77- 1 can't understand the reason ------------ they are angry with me.
1) why 2) when 3) how 4) what
78- She is going to tell the students some interesting stories, ---------- ?
1) isn't she 2) does she 3) doesn't she 4) is she
79- At e did the class start?
B: It - ten minutes ago.
1) What time/ would start 2) What time/ starts
3) When/ has started 4) When/ started
80- I had a very bad toothache -------—---- I went to the dentist.
1) because 2) so 3) but 4) and
81- People could send telegram, telephone to each other, and ---------- information much
more quickly than ever before.
1) followed 2) transmited 3) explained 4) identified
82- There are many theories about the ------------ of life on the earth.
1) imagination 2) effect 3) meaning 4) origin
83- He asked for a/an ------------ help from the government to help the sick people.
1) available 2) original 3) immediate 4) religious
84- Japan is a country that is completely ---------—--- by oceans.
1) collected 2) developed 3) surrounded 4) discovered
85- A computer is a/an ----------- for processing the information.
1) device 2) center 3) issue 4) section
86- She couldn't walk easily in the --------—-—- supermarket, and this made her bored.

1) ancient 2) general 3) different 4) crowded
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87- The success of the company is ---------- because of its good and responsible workers.
1) heavily 2) primarily 3) directly 4) suitably

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Smart houses will use computer technology to 88) --------- the home, to save energy, and to
improve people's health. In a smart house, electronic sensors will be in the floors, walls, ceilings,
and windows. These sensors will send 89) --------- to a central computer. The central computer
will then help control the house. It will also monitor the people in the house and give advice. For
example, when a person is over his or her 90) -------- weight, the sensor in the floor will “feel”
this. The computer will send a message to a cell phone or watch. The message will read, “You
91) --------- have a light lunch today maybe a salad.” Smart houses will influence 92) --------- :

88- 1) control 2) provide 3) recommend 4) choose

89- 1) dedication 2) abbreviation 3) information 4) comprehension

90- 1) designed 2) ideal 3) valuable 4) special

91- 1) could 2) would 3) might 4) should

92- 1) every part of people's lives 2) every people's lives part

3) people's lives every part 4) part of every people's lives

PART C: Reading Comprehension:

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Marcia says that all of her friends have a mobile phone, but Marcia's mom doesn't want to
buy her one. Marcia's mom doesn't want Marcia to play video games either. What is more, the
Internet scares her. Marcia's mom says, "If Marcia has a mobile phone, how do we know whom
she is talking to? Video games are bad for you. The Internet is dangerous and uncontrolled. It's
like having a gun in the house. We should not let her use the computer, and I'm not buying her a
mobile phone until she is eighteen. This is the only way we can be sure that Marcia is safe."

Marcia's dad disagrees with Marcia's mom. Although he agrees that there are some dangers to
it, he likes the Internet, and finds it to be very useful. "The trouble is," he says, "We Just can't
stop Marcia from using the Internet as this would put her at a disadvantage. What is more, I like
video games. I think if she doesn't play a lot, they are fun. Obviously, it is not good to play them
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without limit or self-control. Finally, I think Marcia needs a mobile phone. We can't take these

things away.

93- You can infer from the passage that ------------- "

1) eighteen is the best age for using technology
2) students should not use video games

3) parents don't let students have mobile phones
4) technology is a need for students

94- Marcia's dad can best be described as -----=--=---

1) careful 2) reasonable 3) funny 4) careless

95- The sentence “It's like having a gun in the house” in paragraph 1 refers that ------------ .
1) Internet is dangerous 2) gun can't be safe
3) Marcia's dad has a gun 4) Marcia can read about gun in Internet

96- Which of the following best describes the similarity between Marcia's mom and

Marcia's dad?
1) Mom and dad both think the same about video games.

2) Mom and dad both think the Internet is dangerous.
3) Mom and dad both care about Marcia's future.
4) Mom and dad both like technology.

PASSAGE 2:

It is hard to be a farmer. Cold weather can kill your crops. Bugs can eat your crops. Weeds
can hurt your crops. Your crops may need more rain than they get. Fruits and vegetables can go
bad before they are sold. Some people say farmers can fix all of this with GM food.

What is GM food? All living things have DNA. DNA tells living things how to grow. These
days, people can change the DNA that tells food how to grow. When people change the DNA of
food, it is called GM food.

Some GM food can grow in cold weather. GM food can stop bugs from eating it. GM fruits
and vegetables can stay good longer. One day, GM food may be able to grow in dry land in
Africa. It will feed people who do not have much food.

But there is a lot we do not know about GM food. Will GM companies help poor people grow
food? Or do GM companies just want to get rich? Does GM food kill bugs we need, like
butterflies? Does GM food make birds sick? Does GM food make people sick? We do not know.
There have not been many tests on GM food.

Do you think farmers should grow GM food?

97- What can bugs do that make it hard to be a farmar?

1) They make your crops dry. 2) They can make your food go bad.
3) They can eat your crops. 4) They make your food GM.
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98- According to the reading, what sentence is NOT true about GM food?

1) GM food stays good longer. 2) GM food has different DNA.
3) GM food can grow in cold weather. 4) GM food grows in dry land in Africa.
99- We don't know enough about GM food because ----------- .

1) people don't like GM foods
2) they are not important for scientists
3) scientists need to do more tests on GM foods

4) companies just want to get rich

100- This passage puts great emphasis on ------------ .
1) farmers having a hard job 2) a new method in agriculture
3) the ways of growing GM foods 4) different methods of feeding people
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101-

102-

103-

104-
105-
106-
107-
108-
109-

110-

Rice, --------------- the staple diet of much of the world's population, grows best in hot,
wet lands.

1) which still forms 2) that still forms

3) which is still formed 4) though it still forms

I'd worked for the engineering company for three months ----------—--—- my neighbor also
worked there.

1) until realized 2) after the realization of

3) as soon as realizing 4) before I realized

A teacher who was arrested after trying to set fire to a school is said ------------—- two
policemen.

1) to have seriously injured 2) to have been seriously injured

3) to seriously injure 4) that has serious injury

Sound travels at 330 meters per second, --------------- light travels at 300,000 kilometers
per second.

1) provided that 2) however 3) whereas 4) as long as

We provide holidays ------------- , and we need enthusiastic young people to work with us.
1) for 5 to 14-year-olds 2) from 5 to 14 years old

3) with ages 5-14 4) between ages of 5 and 14

------------- less than delighted with our product, we will refund your money immediately.
1) Were you 2) Unless youare  3) If you could be  4) Should you be
Send us a letter of application ---------—-—- you prefer to work in a city camp or a camp by
the sea.

1) to tell us about 2) so that we tell

3) and tell us if 4) but not tell if

Stockbrokers are becoming --------------- the news from New York.

1) increasingly worried about 2) worried about increasing

3) worried that increasingly 4) worried because increasingly

How long ----------no--- for their keys when they found them in the boot of the car?

1) had looked 2) had they been looking

3) have they been looking 4) have looked

I don't know where our main speaker can be. He -----------m--- hours ago.

1) must arrive 2) must have arrived

3) might arrive 4) should have arrived

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111-

112-

113-

114-

Many medical professionals are concerned about the -------m-eeemo- use of antibiotics to

treat minor medical conditions.

1) grave 2) therapeutic 3) beneficial 4) widespread

You ------mmeemee increase your chances of being robbed if you look as if you might have
a lot of money on you.

1) stubbornly 2) dramatically 3) timidly 4) hopefully

One of the main reasons to go to an exclusive college is that you get t0 ------=-=mmuem- with
some of the country's future leaders.

1) linger 2) disclose 3) absorb 4) associate

Since winning the gold medal at the Olympic Games, his image has been -----------—--- by

accusations of drug use which he hotly denies.
1) engaged 2) improved 3) tarnished 4) restricted
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115-

116-

117-

118-

119-

120-

121-

122-

123-

124-

125-

Some say the ghost of Princess Hilda --------------- this castle, appearing as a headless
form while she plays the piano. ;

1) haunts 2) overcomes 3) broadens 4) challenges

Gamers spend hours a day in a -------—-- reality, and they are used to controlling their game
environments, and this seems to help them to do the same when they are dreaming.

1) fragile 2) natural 3) virtual 4) skeptical

When we decided to sell our house, an estate agent came round to --------------- the value
of the property.

1) assess 2) create 3) capture 4) struggle

Jenny told us about her party only one day in advance, --------------- thinking we had
nothing else to do.

1) implicitly 2) subtly 3) arrogantly 4) expeditiously

He was an extremely --------------- author, writing three or four novels a year as well as
many short stories.

1) compatible 2) prolific 3) shallow 4) marginal
Ecotourists often shun cruise ships, because these are among the biggest ------==------- in
the tourism industry in terms of environmental pollution.

1) restraints 2) culprits 3) concepts 4) visions

The medical staff could not know for sure whether the treatment would work, but they
made a confident --------------- that the patient would recover.

1) incentive 2) generalization 3) prediction 4) resemblance

To avoid disease, many people drink only --------------- water, which has been boiled to
evaporation and then recondensed on a cold surface.

1) retained 2) owed 3) expended 4) distilled

Research studies suggest that there is a positive --------------- between religious
commitment and higher levels of self-esteem.

1) correlation 2) confirmation 3) sense 4) obligation

1t sounded as if somebody was moving something very heavy, like a table or a bed, by
--------------- it across the floor.

1) sapping 2) admonishing 3) mending 4) dragging

Many people are turning to treatments which involve the whole person, including their
mental health, rather than just dealing with the -----------=---- of the illness.

1) symptoms 2) regrets 3) possibilities 4) excuses

PART C: Sentence Structure
Directions: Choose the sentence with the best order for each of the following series. Then

mark the correct choice on your answer sheet.

126-

127-

128-

1) The fog was very thick that couldn't see your hand in front of your face.

2) The fog was such thick that you couldn't see your hand in front of your face.
3) The fog was so thick that you couldn't see your hand in front of your face.
4) The fog was too thick that couldn't see your hand in front of your face.

1) However women commit all types of crime, they are most likely to involve in theft.
2) Although women commit all types of crime, they are most likely to be involved in theft.
3) Because women commit all types of crime, they are most likely to involve in theft.
4) Women commit all types of crime, in case they are most likely to be involved in theft.

1) The dunes are formed from sand washed ashore by waves and then dried and blown
by the wind to the land beyond the beach.

2) The dunes form from sand washing ashore by waves in order to dry and blow by the
wind on the land beyond the beach.

3) The dunes which are formed from sand are washed ashore by waves and then the
wind dried and blew to the land beyond the beach.

4) The formation of dunes from sand to wash ashore and then waves dry and blow the
wind on the land beyond the beach.
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129-

130-

1) Had Peter not phoned I sat in the house and watched TV when the bomb went off.

2) If Peter hadn't phoned I'd have been sitting in the house watching TV when the
bomb went off.

3) Had Peter not phoned I'd have sat in the house in order to watch TV and that the

bomb had gone off.
4) If Peter hadn't phoned I'd sit in the house and watch TV before the bomb went off.

1) I could have got tickets, but only very expensive ones there were left.
2) I was able get tickets, but there were very expensive ones only left.
3) I could have got tickets, but there were only very expensive ones left.
4) I might have got tickets, but only very expensive ones left.

PART D: Language Functions

Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131-

132-
133-
134-

135-

136-
137-

138-

139-

A: I thought we were meeting to (131) ------------ , but you've brought your wife with you.

B: Yes, I consult her on all business matters, so I want her to approve the deal.

1) talk turkey 2) find a bargain 3) horse around 4) show the ropes

A: I got the shock (132) -------mmeeemm- today.

B: Why? What happened?

A: Well, I had to (133) ------mmmmmmm- a dreadful meeting on government borrowing this
morning, and unfortunately I happened to (134) -------===--—-- for a few minutes. But

this afternoon I discovered that someone had posted a video of me snoring on
YouTube!

1) by heart 2) of my life 3) at all costs 4) on the house
1) burst into 2) take place 3) sit through 4) slim down
1) ramble on 2) nod off 3) branch out 4) hit back

A: Mike's just got back from a yachting holiday in the Caribbean.
B: The Caribbean, on his salary? Well, (135) ---------------

1) what do you know? 2) what if it's true?

3) we'd better get moving. 4) what makes you tick?

A: I asked Sue about her essay, and she just ignored me.

B: Yes, I think it's a bit of a (136) --------------- because she got a very low mark on it.

A: Oh, dear. I (137) -==-=-meeemmm- in it, then.

1) rough guess 2) narrow escape 3) mixed blessing  4) sore point

1) put my foot 2) twisted her arm  3) lost face 4) held my tongue

A: I'm going to the theater on Saturday.

B: Do you mind if I (138) ------mneeuuemm ? I haven't been to the theater for ages.

1) give youahand 2)do you a favor 3) send for you 4) keep you company

A: Gina is giving a talk on Greece for the local Archaeology Society next week.
B: I'm not surprised. She always has something (139) -------------—- :

1) at odds 2) on the go 3) out in the sticks  4) of her own record
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A: I hear your brother got you to fix his faucet?

B: (140) --------------- . Anyway, it didn't take me very long.
140- 1) He wouldn't take no for an answer 2) It looks like you could fix it
3) I don't blame him 4) He wouldn’t meet his deadline

PART E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

One of the most extraordinary things about the First World War was the enthusiasm
with which the majority of soldiers went off to fight for their country. Those young,
patriotic men, who rushed to the enlistment centers, had no idea (141) --------------- ,
They did not know that they would live for months in holes (142) --------------- in the
mud. They did not know what it would be like to watch a friend who had been horribly
injured die a painful death. (143) -----mmmmmmmmm- they were excited, even thrilled, about
the (144) --------------- of going to war.

This was (145) -----=--------- the image-makers made an impact. There were posters
which asked women to encourage their men to go to war: '"If he does not think that you
and your country are worth (146) ----------=---- — do you think he is WORTHY of you?'

The mood which (147) --------------- the country was one of patriotic and heroic
struggle. (148) --------------- , it was generally believed that it would all be over in a few
months.

The war fever which gripped the nation (149) -=---mmr--n--- the emotions of
everyone and there was a huge growth in the writing of poetry. At first the poems were
proud and optimistic: "Now in thy splendour g0 before us Spirit of England',
(150) ---mmm=-mmmm-- the war dragged on, the writers of poetry became angry at the
myths they had been told. They wanted people to know about the horrible reality of
war, which brutalized the people who took part.

(151) ---==m=mmmmm-- put these feelings into words very effectively was Wilfrid Owen,
who, in the poem Anthem for Doomed Youth, wrote "'What passing bells for these who
die as cattle? The poetry of Wilfrid Owen, Siegfried Sassoon, Robert Graves and

(152) ---+=-z=erbc=s which described the horrific reality of war, (153) -----mmmmmmmm-- its
morality. Many of the poets were wealthy, (154) --------------- men who had not at first
been anti-war, but whose attitudes were changed (155) --------------- what they saw.
141- 1) whether to lie ahead 2) that lying ahead of them
3) what they lay ahead 4) what lay ahead of them
142- 1) and they dug 2) in order that dig
3) they had dug 4) which they were dug
143- 1) With regard 2) And so 3) Instead 4) However
144- 1) tension 2) emphasis 3) framework 4) prospect
145- 1) the war which for the first 2) despite the first war that
3) the first war in which 4) because the first war as
146- 1) having fought 2) in order to fight ~ 3) fighting for 4) of fighting
147- 1) liberated 2) divided 3) seized 4) betrayed
148- 1) Too much time 2) The same time when
3) As much time as 4) At the same time
149- 1) coped with 2) looked forward to
3) held back 4) stirred up
150- 1) even though 2) but as 3) unless 4) so that
151- 1) One of the writers 2) Whoever writer

3) One writer who 4) Only one writer
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152-

153-

154-
155-

1) those of the other 2) others

3) another 4) those of others

1) also questioned 2) questioned too

3) in addition to questioning 4) through questioning

1) privileged 2) effective 3) condemned 4) charming
1) for 2) on 3) by 4) at

PART F: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

- PASSAGE 1:

156-

157-

158-

159-

160-

If you happen to gaze up in the sky at just the right time in the year 2061, you might
get to see one of the most famous comets of all. It's called Halley's Comet, and people
get a chance to see it every 76 years when the comet's orbit brings it close to Earth.

Comets are satellites made up primarily of ice (both water and frozen gases) and
dust. All comets orbit the Sun, but some complete a revolution of the Sun in just a few
years while others need several hundred thousand years. When a comet passes close to
the Sun, the ice in the comet melts and dust particles are released. These dust particles
form the comet's famous tail, or "long hair," which can extend for more than 10
million kilometers. It should be no surprise that the word comet comes from the Greek
word kometes, which means "long-haired."

For much of human history, people were terrified of comets. These bizarre objects
seemed to appear suddenly out of nowhere, and unlike the Sun and stars, they seemed
to have no predictable pattern. Some people thought comets were messengers,
bringing news of disasters to come. Comets were blamed for earthquakes, wars,
floods, and an assortment of other catastrophes. It wasn't until late in the 17th century
that Sir Isaac Newton discovered that comets orbit the Sun in predictable patterns, a
discovery that helped to dispel many people's fear of the long-haired messengers of
doom.

The passage states that Halley's Comet --------------- .

1) will last be seen in 2061

2) follows a path different from that of many other comets
3) is rare to observe

4) has a lifetime of more that 70 years

What happens to a comet when it is a short distance away from the Sun?

1) It releases dust grains and gas. 2) It collides with the Sun.

3) It develops a tail. 4) It glows faintly and dlsappears
The word "bizarre" in the passage is closest in meaning to ---------------

1) very terrifying 2) very intense

3) very unexpected 4) very strange

Which of the following best describes the function of the last sentence of the passage?
1) It evaluates the merits and demerits of a long-standing theory.

2) It presents a scientific finding and its effect on an erroneous belief.

3) It explains how Newton's discovery made people even more superstitious.

4) It discusses many people's inability to understand astronomy.

Which of the following characteristics of comets is mentioned in the passage?

1) They are usually too small to be seen from Earth.

2) It can be quite difficult to track them.

3) It does not take them the same amount of time to go around the Sun.

4) They are not as bright as the stars.
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PASSAGE 2:

The reports also have negative news. Although most countries have official
organizations to improve women's lives, many of these organizations don't do
anything. Women make up 50% of the world's population, but they do nearly 66% of
the world's work. They do most of the domestic work—for example, cooking and
washing clothes. Millions of women also work outside the home. They have become
50% of the workforce in many countries. For this work, however, they earn about half
as much as men, and, of course, they earn nothing for their domestic work.

Reports also show that there are still very few women in high government
positions. In fact, only about 15% of the positions in government are held by women.
In addition, more than half of the people who can't read and write are women. Being
illiterate doesn't mean people are not intelligent. However, not being able to read and
write does make it more difficult for people to change their lives.

In developing countries where three quarters of the world's population lives,
women produce more than half of the food. In Africa, 80% of all agricultural work is
done by women. In some parts of Africa, this is a typical day for a woman. At 4:45
a.m., she gets up, washes, and eats. It takes her a half hour to walk to the fields, and
she works there until 3:00 p.m. She collects firewood and gets home at 4:00. She
spends the next hour and a half preparing food to cook. Then she collects water for
another hour. From 6:30 to 8:30, she cooks. After dinner, she spends an hour washing
the dishes and her children. Finally, around 9:30 p.m., she goes to bed.

The paragraph preceding the passage most probably discusses ------=-------- .
1) talented women in official organizations

2) the rights of women in developing countries

3) reports of dissatisfaction among women

4) positive news about women's lives

The word "domestic" in paragraph 1 is closest in meaning to ---------------

1) physical 2) back-breaking 3) household 4) collaborative

Which of the following is implied in the passage about literacy levels and people?
1) A literate woman is more likely to succeed than a literate man.

2) An illiterate person might be as smart as one who is literate.

3) Literate people are usually smarter than those who are illiterate.

4) Neither literate nor illiterate people find it easy to deal with their lives.

Which of the following best describes the organization of paragraph 3?

1) A general fact is stated and then an example to support it is included.

2) A number of points are made and then a conclusion is drawn.

3) A particular problem is described and then possible solutions to it are suggested.
4) A main point is made and then refused by raw statistics.

The passage discusses women in terms of all of the following EXCEPT -----------ne-- «
1) income 2) dependence 3) education 4) occupation

PASSAGE 3:

A second rarely visited part of Hawaii is the island of Niihau, which is known as "The
Forbidden Island." This privately owned island has fewer than 250 inhabitants, and
you need an invitation from one of them to be allowed onto the island. The owner of
Niihau raises cattle on his secluded ranch, and many of the people on the island work
for him. People say that there is no electricity on the island and that the inhabitants
have chosen to live in the traditional way in order to preserve traditional Hawaiian
culture.

The remaining six Hawaiian Islands are open to tourists, though three of them
attract far fewer tourists than the others. Molokai is home to more native Hawaiians
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than any other island. This island boasts the highest sea cliffs in the world and a
wildlife park with rare animals from Africa and India. For many years, Molokai was
one of the most beautiful "prisons" in the world. From 1865 to 1969, more than 8,000

" people were sent to this island. But the only crime these people had committed was to

166-

167-

168-

169-

170-

suffer from Hansen's disease (formerly known as leprosy). Until a treatment for the
disease was discovered in the late 1940s, anyone suspected of carrying the disease was
sent to live in isolation on Molokai. Molokai is also home to the Kalokeoli Fishpond,
which is an example of the sophisticated aquaculture used on the island at least 700
years ago.

Which of the following best describes the organization of the passage?

1) A remote Hawaiian island is introduced and then a paradise island of Hawaii is
recommended.

2) The reasons for the popularity of some Hawaiian islands are mentioned.

3) Similarities and differences between two parts of Hawaii are described.

4) A number of details about two different spots in Hawaii are given.

According to the passage, the inhabitants of Niihau --------------- |

1) have their own private farms

2) lose electricity on a regular basis

3) are rarely forbidden from leaving their island

4) aim to maintain their culture

Why does the author mention ''sea cliffs' in paragraph 2?

1) To show that they create better conditions for rare animals

2) To support an earlier statement in the same paragraph

3) To point out an outstanding feature of Molokai

4) To elaborate on a natural wildlife habitat in Molokai

Which of the following statements is true about those who suffered from leprosy?

1) They were banished to a certain area.

2) They were sent to beautiful prisons around the world.

3) They never faced trial for their crimes.

4) Most of them were cured in the mid-twentieth century.

The word "which" in paragraph 2 refers to --------------- .

1) Molokai 2) Fishpond 3) example 4) aquaculture
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